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% % /g 4 Instructions to Contestants

10.

11.

Bopt %@ﬁi“‘ > ﬁ%ﬂ.\,/;‘;@-,n F i hd b oo
You should place your Admission Form on your desk for the whole session.
I FH R EHAT S RIF AR L AL EPEE
During the competition, you should switch off your mobile phone and any other electronic or
communication devices that can emit sound.
AIEP AR A4S SN R A AT RER o
Contestants should finish all questions in this 45-minutes written test.
EEAMAYEBER O FFF L2 S FF R RS
Write your name, class, admission number, seat number and school name on the front cover of your
answer sheet.
SRF T ER AR A g REL T HM
You can only use the rough work sheet provided by the organizer.
FREITOMEL RIS
The use of calculators is NOT allowed.
FHREFFREFREED A GRIEZ FHAL 5 E R AFL 5&%&‘1 FERTEHE
Put your answers on the answer sheet provided, otherwise, the answers will not be marked. You are not
required to show the steps in your calculations.
% SRR L R o s dehE R 2 AR o
Unless otherwise stated by the question, answers of fraction should be expressed in their simplest form.
FRIRIER 0 R F AT RET I NRS LS4
Under normal circumstances, contestants are not allowed to leave the contest venue before the end of
this session.
BEFRRIEF TR SFTR
Any contestant who violates the rules and regulations of the competition might risk disqualification.
FREFAH FEELRUEN FFEFRARSLR FFF AN A F AL 2T
XE®RD R %%go+g%g{ﬁw%m%¢&§%iﬁo
If you have any queries, you should contact the officer-in-charge immediately after the competition.
Late queries will not be entertained. The decision of the organizing committee will be final.
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7.

HakbEEEE - Ha+b=50°3K axb HyHRAHE -

If a and b are integers and a + b = 50, find the largest value of a x b.

w7 ohs

Time allowed: 45 minutes
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o 1400
Total marks: 400

(15 77)
(15 marks)

—{EFEAA 6 [ELLER > 3 HEEK - 2 (HekBk R 1 (EHRER - IRAERSEAERE
R — BRI > B DR 2 B RECREE 3 FlA [FIBH CLHIER 12

flit ?

There are 6 red balls, 3 white balls, 2 green balls and 1 black ball in a box.
The ball is drawn one by one randomly. To ensure three different colors of
balls are drawn, at least how many balls should be drawn from the box?

S5 [fflE - K X HIE -

According to the pattern of the following diagrams, find the value of x.

=1

=14

(17 77)

(17 marks)

(20 77)
(20 marks)

R TL(E ARYFERC AR 175 5% - HAET AR /N 26 B e K —

ARy 29 5% » KA NFEAATREFERIINZEZ DB -
If the sum of the age of five people is 175, one of them is age 29 and none
of them below the age 26, find the largest possible age among the 5 people.

3K 11111111 x 11111111 (94 -
Find the value of 11111111 x 11111111.

(20 77)
(20 marks)

(23 77)
(23 marks)

KN EA P B ISR A ARAVET(0-9) « (BETFSCFEEIREA

[EIVELF © )
Find the digits (0-9) represented by the different letters in the following
Calculation. (Each letter has a different value.)

A
+ C
cC D

HEH S RIERFH 2 T2 90 - 45
Hl5E 280 o SKEEF] K BREAYFHS -

The sum of the ages of Mary and Tony is 90. If the sum of twice the age of
Mary and 4 times the age of Tony is 280, find the ages of Mary and Tony.

6 EfERT 4 [EFERAEER $62

10 apples is $106. Find the price of an apple and an orange respectively.

A

HEH F

c

(24 77)

(24 marks)

ENEEGIEIEES i RJUEiY

(24 77)

(24 marks)

i 8 ERSFT 10 {EBERATESE
Ky $106 - SKEFEFERNIEFERGHIESS -
The price of 6 oranges and 4 apples is $62 , while the price of 8 oranges and

2

(25 77)

(25 marks)
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10.

11.

12.
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() FETEEIFEHE A F] B HUAR ISR -

Draw the shortest path from A to B on the maze.
(b) SKREFERSER EAVEFAEA -

Find the sum of the numbers on the shortest path.

lA

4 1 3
2 7
=Tl | =

12
9 11 13 5
10 14
15
21

18 w6 17
22 20 B
I
zsl 24 23

l

100 % 500 Z [i145 %/ D EERE#L 8 F4FR 7
How many numbers between 100 and 500 are divisible by 8?

>k 888---888 [FRLL 3 HUEREL -

2017

Find the remainder when 888-:--888 is divided by 3.
%/_J

2017

(13 97)
(13 marks)
(13 97)
(13 marks)

(26 77)
(26 marks)

(27 77)

(27 marks)

/NIRRT T RGN ERIALH _EZOH - A& E R SR VIS TRy Ny 1T

BE(MEFTR) © A2/ E/ NS
() RAE—mAEZEE?

(i) R AREAZ ?

(i) AE=MEAZHH?

Ming painted the surface of a cube and then cut it into some smaller cubes
(as shown in the figure). How many small cubes have paint

(i) with only one face?

(i1) with only two faces?

(iii) with only three faces?

___________

N N
BET e

(AR [FEpPIREG | ——

(27 57)

(27 marks)

¢HHITEHE Group Event




14.

15.

16.
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- HEEA 20 EEIRE > BH G 3 0 0 B2 0y o ]

ERTA RS 35 73 - SR B HHIEEL - (29 77)
There are 20 true-or-false questions in a test. 3 marks will be given for each

correct answer and 2 marks will be deducted for each wrong answer. If Jack

answers all the questions and gets 35 marks, find the number of correct answers.(29 marks)

Ef-a-b-c-d-effERHERHK-Ka b-c-d-effayE - (307)
In the figure, a, b, ¢, d, e and f are positive integers. Find the values of a, b,
c,d,eandf. (30 marks)

7N\

v \I\
\|\ ava

8 =3 — 5

N 7

T4 A+B=2016 > B+C=2017» C+A=2018 » ¥ 6A+6B +6C HI[H - (32 %)
Given A+ B = 2016, B + C = 2017, C + A= 2018.

Find the value of 6A + 6B + 6C. (32 marks)
WEHLF "PRIMARY” (Y8 7315 261091251024 »

S RHIEF "MATHS (VB2 - (35 47)

If the word ‘PRIMARY” can be represented by the code ‘61091251024 ,

write down the code of the word ‘MATHS’. (35 marks)

&5 END OF PAPER
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